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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, as part of the Throughput SLE in the Mist UI, the Coverage classifier indicates the signal
strength of which device? 

A. the AP\\'s radio strength 

B. the signal strength between APs 

C. the client 

D. the AP\\'s radio for a single SSID 

Correct Answer: C 

 

QUESTION 2

Click the Exhibit button. 
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Referring to the exhibit, which statement is correct? 

A. The packet capture was taken automatically. 

B. The packet capture was taken manually. 

C. The packet capture will contain full frames. 

D. The packet capture will contain only management frames. 

Correct Answer: C 

 

QUESTION 3

You are deploying three WLAN 2.4 GHz networks in your US-based site. You must ensure that each network frequency
is unique and does not overlap with the other frequency channels. In this scenario, which three OFDM channels should
be used? (Choose three.) 

B. 1 

C. 3 

D. 6 

E. 13 

Correct Answer: ABD 

 

QUESTION 4

What happens first when a client requests to join a WLAN? 

A. 802. 11 authentication 

B. ARP request 

C. 802.11 association 
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D. DHCP discovery 

Correct Answer: A 

Reference: https://netbeez.net/blog/how-wifi-connection-works/ 

 

QUESTION 5

Which two events are displayed under the Client Events area found on the Insights page? (Choose two.) 

A. Reassociation 

B. Restart by User 

C. Reflection (Loop Detection) 

D. DHCP Denied 

Correct Answer: AD 
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